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N ° 75 - 27 °

Which of the following figures indicate acceleration due to change dadi 5t oladl s caaw g5ld e Ju 6N JIEEYY e ,__51

in direction only?
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Which of the following statements is correct regarding

the diagram shown below?

/-9 electrons P — 10 clecirons

9 protons . «  9protons

Fluorine atom (F) Fluoride ion

paauadd B opadil o 10002

0B LSt - 2ap pelall - aladl Hluell - galudl Ciall

lons &gl

Salial  _abadall JCA 20l Assais 2000 el g

F — by 250 10 : ol AL 9
. . aulighy 9 - K. ubbg:rl,g ?
NPT (F) 512 3,3

r----------------------------------------------1

: @ The fluorine atom gains electron, and forms negative ion

e Spl 3855 09 2SN il 53 e .

L----------------------------------------------J

O The fluorine atom loses electron, and forms positive ion

O The fluorine atom loses electron, and forms negative ion

O The fluorine alom gains electron, and forms posilive ion

e C.uei' O3Say s O Sl kil )0 ki

e S 3%y 00 S 0lil 553 MR

Cinge Sl 53 0y Sl Al 53 s
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D

The atom and its parts LgiligSag 8,a)] *¥**** BONUS *****

Which of the following statements is incorrect regarding

the atom and its parts? PleisSey LAl Sy Lo s o 34 bl 00 of

The area around an atomic nucleus where an electron ¥ e O S L aalyiy B0 #l Lol il
is most likely to be located is called electron cloud Ly S Al o
O The neutral particle in the nucleus is called neutron Oy Al pansd BN B G dgagall JalaZall paeeal)
O The energy of an electron depends on its energy level 43 agagall ALY (gilaa le (g pEIYE AELL 2
I R e et S g e () e (St e e e el e e (- et  k f f t |
I 1
[ The mass of an electron is approximately equal to [
aigsd) LS L (gl (g STV ARS
1 the mass of a proton sl 85 b s QS J
| I
=
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Elements in the periodic table s Jaaxdl (8 yolis

fdl &

Tolial ypuall 3 daiiapdll pealially @l b dasaca s 4000 Sljluall gl

Which of the following statements in NOT correct regarding

the elements shown in lhe figure below?
o - e

S ST

= Jg

Fluorine Chlorine Bromine lodine )

r-—-—_—-------—_—-—-—“—----—-——_—---_“—-_-h--_—

These elements can react with other elements only under special odall S aala Gigyh AV paliadl e lapld ae Jelic Y

XO,
conditions in a laboratory

Ll———l———l——l——l—i1—l————l-—t-l——l—l——l-——l——i—l——h—l—lv—i—i—l——l——l—r—l—h

ol By (i pate palyia joale Jelin of oSa

| I

o One of these elemenls can react with metal element lo produce salt

One of these elements can react with other nonmelal elements e LgCa Y pate g aliall 038 fpa peaie Jelin ol S

O and form a compound

‘-.1.
'

.Ll.il 'I..ls_).i:_u_a.dld.u_hn

O Only can occur naturally in form of compounds
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i Computer Microchips dadal] yiguuasSt] (3318,
In microchips, similar to the figure below, which of the following O LN e Baal g olind 5 guall A Lla AEN 28 N &
is a property of the element used to make it? -~ Metelial adiuall yalell jailiad

O Breaks easily and does not conduct electricity. el gl da g Wyl g o84

O Good conductor for electricity at low temperatures il 5 ) el cla o die el oSl 2a (Joa e

O Bad conductor for electricity at high temperatures il pall 5 50 jall s 3 dic ol Sl o5 ) Joga
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; Inat produced the most o1, the experiment was done unaer - L‘s' i - = . -'.
¢ &gl CITE PR Y TC I TN SRt I ) 1| Y
D similar environmental conditions in terms of the amount of light, et e de il e e
1

Al daglall o5y giall fang il AaaS i5)hall A s
temperature, amount of nitrogen available, salinity... etc. Which = st gl Guma pd it

Loyl oda 3 il janall g AW e 6
of the following is the dependent variable for this experiment? o At atagicat

O The temperature of microalgae’s pond dndall Calladall A<y 5)lya A gy
[/ e g g s ] o 1
! @ Type of microalgae g Mablieg |
I Bl & &
L----------_—----—----_---—--------------------J
o The amount of oil produced Aalil o5 (M) cull daaS

@ O The amount of microalgae’s exposure to the Sun oeatll A3 Qllalall | cades 48
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6 8 6 3

6 5 4 4

O 2 and 4
@) 1 and 2
O 2 and 3

paasdd O gyl

A }o 25-14 o OB .S - za palall - plall jluall - zabudl Ciuall

wa 10:0.
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Hockey player Ssgdl s

A hockey player hits a 0.3 kg puck that accelerates at Jaas gl 0.3 kg 4iS  Sop o  Sop e Lipu
a rate of 15 m/s°. What force did the player exert on the puck? T sSsel pai (B e Ly B G Bl Jlaie L. 15 m/fs”

O 12 N
' © 4.5N !
O 50 N
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(Matter (diagram (Js<&) 8alall

What does the diagram below illustrate? Polial JSE peada gy 13

O Mixture of two elements CHaic (e ladd
(O Pure element (shl peaic
O3S ye (e Jaila

O Mixture of two compounds
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s plew 4o jls

equals zero

[ = 1]

1.:'_.1:13 élﬂ' J_,.-n.ﬂl u-l:- 'Tll-!:'l-;'l-] Byd -ﬂjh J'li'.'!
Sl il £y

O The boy exert a force to overcome inertia

and the skateboard begins to move

54 4d A5 ol e clegll d LSLL Al

O Apples remain at rest in the bowl unless
CEys e S

a force act on it to change its motion

1
1
1
1 @ ground so that it pushes him in the same
1
!
1

A runner's foot pushes backward on the Ly oy Je aalal el b

b Sl edidi Bl Jlaie Al e Y

amount of force, so he moves forward pladtl jatd ¢\ Slaa slal

L-—----—-------------—--—---—--------—-----—---J
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Cathode ray 35ilSJ] dsii

JEAL Ge 98 LS Lajats Wil Gaasiiall 5 39180 el 50 Lasie

When the cathode ray pass between the charged plates
Saayaall a3 (e dpliingd oi€as 531 La ool

they bend as shown in the figure below, what can you

conclude from lhis experiment?

Electrically
charged plates 1
Battery Battery G
=0
[‘_G-‘
4
Electrodes Y he [
Cathode ray i
Glass tube
r ----------------- - O O . O O O O S S e e s S S B B S e e e e BN B BN G G . 1
1 : . |
1 @ The cathode rays are negatively charged particles Al Ain sy Lgatia Clasus Se a0l Ll 585 '
L
- O O O O O O S . . - O o - O . . . - - N O - O S - - - - - O S O - . - - e - . S S S . [ | J

@ O The cathode rays are positively charged parlicles Ligge Aty Lpatia Slasan e 301E0 Lasl 58

10:0
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D Balancing chemical equation dileaus)] Odalaall 4)lee

In the chemical reaclion of aluminium Al with oxygen O, to produce asial¥) Sl Y O) HannSY) aa Al paiaf alasl Jelin o

aluminium oxide Al,O,5, which chemical equalion is correclly balanced? Toaa S5 Ay )pe Al bl Y aleddl (e ‘_“;i «AlLO;

- - - - - - - - . . - e - e S e S O - - S . O S O S S O S S S S S S I O S S S S O s s .

O 3Al + 207 — Al20O3

O 2Al + 302 — AlxO3

O 6Al + 30, — 3Alx03
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THE RATE OF CHEMICAL REACTION (ilbeaust] Jelasdl de puu

Which of the following is NOT correct? Sminia b AN e g

O Healing eggs increases its cooking speed dugle deyu W3 il i S

A slatue is damaged more quickly when exposed to acid rain :
O | ‘ el i anad 365 e S s 13 ol S S
contains a higher concentration of acid :

O Dividing the antacid tablet into small pieces the faster it will dissolve W g st i ki Jf Rgiall ke s it
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3 Solute mass «ildJ) dlis

If a sample of waler has a mass of 180 g and lhe final solution has Sl Jylaall ab€ =41y 180 g (5ylad elall (e Aie ABS IS 1Y

a mass of 230 g, what is the mass of solule dissolved in water? Celall & il 2BS 4ln €¢230 g (sl
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Elements of the first group and the second group 4uli] degaxally Jodl degaxall juolic

LI de gaaddly IV de el palic cdndlidag L

What is the similarity between the elements of the first group
and the second group in the periodic table? Csoadll Jaall A
1 — =
2 [ ]
2 C

O Both must be stored without contact with oxygen OanSY! (g et Gl g G380 LaadiS

O Both found in the form of compounds in nature LSy Bjpa Jo dxaldl G 2al LaliS
o Both react quickly with ather elements eladl o dopdl udis Jelin LaaiS



39:16 ‘ N ‘O 25-1‘ o E B . el Gl ks - zam pelsdl - sl sl - gl Giall | =

i Blind study slwe=ll 4>l

The scientific investigations are done in the blind study procedure, why? TI5La) ¢ gloaall dujasll 40 phas dralell CilaGanll lyal

<G P T
A =
: | C | A
= ——
-l-" p———— ™
O To reduce the consumption of study samples Ll Al Slie obaa Ll
o To increase the safety procedures for the investigator or the subject A 5all aslall Jf Sl LS el yal 3ay 3
O To increase the bias toward a specific item being tested s Sa) 25 peadel JlaiiISal 3l

o R o o e e e e e e e e e e e e e e R e e e e e e e e e e e e R R e e e e e e e e e m

|
I @ To reduce the bias toward a specific item being tested s ) o5 peatal et i
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3 Physical properties in separating mixtures hudbxal| Jad (8 dudliudll yolgsd

Which of the following physical property usually does not

Thadliadl Jiad 6 Bsle es Lgd el Alijd A3ials 5!
have a role in separating mixtures? - -

Conductivity Jra gl

r"'"""-é--'1

- O O O e . - - -

Density sdesl

o
o
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faligiiae jie ailold e bl gf ool G ye ol
students, which student's data is not precise? =

Students Melting Point Data

0

o Student A

F_--—-“-_-‘--H_ﬁﬁ”“___”ﬂ__ﬁ__ﬂ_—ﬁ

I
[ @ Student B
[

O Student C

TN Jalt )l
Student Student Student
C B A
sl
183.9°C 181.4°C 190.0 °C 1 :
Trial 1
4] Jal!
185.3°C 187.3°C 189.8 °C e
Trial 2
il gl
184.7°C 191.0°C 189.7°C =
Trial 3
b al
184.6°C 186.7 °C 189.8°C H
Mean
Sucrose Melting Point (accepted value) 185°C 1B5°C (yeiall Aanlll) 39,5l jlgacil dys

O All three students’ measurements are not precise

A Ll

- . - - O - e e e e .y

B Ly
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B Amount of matter 8alal] duias *¥dk* BONUS **#i*

Which of the following will increase when the amount of matter increases? Tralall ZuaS aalajl LalS ooy AL o 41
O Density aalsyf

(i = o = R R IR N I e T T R =

I

1 ¢ Mass ak<ll

I 1

Lk = = = = = = = = = = = = = = = = = = = = = m e EmEEmEmEEEEEEEEEEEEEmE = m -
(O Boiling point Olalall dx

O Electrical conductivity et Jaa gl
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9 Which subatomic particle is labeled by X in the figure below? Calial JCAI X RaStasy aall SLED) (o530 4 90 asnsnll L

O Neutron

@ O AQuark

ERRS]
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"\ Electric forces AL ST (sl

3
vV TS TormmmmmmmmmmmmmmmmmmmmmmEEE T E
1 1
1 i
1 |
1 |
1 |
L (® Friction Ayl |
1 1
| 1
1 1
1 |
1 1
< J
O Gravity 2l




